@ z2=-2x-1

@® 22?2 =2(2? - 3)2

x2—4

@ z(x—4)

(3 —x)

® (z—3)?

® r—4=5z



Ua 5 o= -2 7Fsl7t S oA A2 (9 2 7H)

® z(x+2)=0 @ 22 +20-3=0 ® 22 +6x+8=0

@ 222 —x—-1=0 ® 222 4+4=0



OJAYA A 22 4+ 3z — 1 =0 9 sf7}
Tstoat,
(&, A, B = fE4)

A++vB
2

o]
=

o, A, B 9



4.  OZAIAHA 32 —5r—a=09 FLL T T o +b 2 FHS

T-stofzt.



oA FFA (r —1)2 =0 -3 S ar? +br+c=0 9 EZ Yepd o,
a—b+c 9 & AotH? (Ha>0)

® 4 @ 6 @ 8 @ 10 ® 12



ol

°]7} (70 4 25t — 5t%)m 2}

A
o] A9 %07} 40m 7} B

Aot &7

S
L

e
I






LAY o2 faz +4=0 9] 20| 3 V5 A uf kB F 2 b2}
Sh o1, a + b o] 2EL?

D 3-+5 @ -3-5 ® 3+5
@ —3++5 ® —-3-+5



A1zt 2] Hol7t 22 Atz o] ol 3 el o,

&

~--8cm -~

@ 5cm

@ (8—2v3)em

® 4+v/3cm

® (3+2v2)em

@ (12 — 4v/3)em



10. S AT A={z|2> 10z +a=0}, B={z|a®+b=0}ol s}
ANB={3}4 W, a+b 2 & 5ozt



o
i
!

)

oM

ot

o

A 222 +5x—a=0 2

a};g Al

oAy

11.

stofzt.

.ZF_



12,z of 3t o]2AH A4 42 4 2246 —m =0 °] T2 M2 wf, m 9
71 o o] sfE totofzt



13. oA 22 4 ma+n =0 o 5 olch, F 20| AlFe] A7k 24w,
n—m o g Fatolet.



09 F ool a? 22 +a=02° 2

—224+2x+8

up 4l

oAy

14.

ol
N
ol

® 4

@ 3

® 2

@1

@ o



15, o2HA] (¢ 1 2)? = 20 9 @ 20 —24 V2 A 1, §25 a o TS
aholat,



a,BEolla-1,8-12F
=0 ol2t &, mn = 5ot



202 +ar +b=09 F o] 1, 24 W, a — b9 F2?

@ -2 ® 2 @ 10 ® —10



18. F o|AAA 222 —7x —4 =0, 222 — 5z — 12 =0 = S A TF=35l+=
x

of gre Fetoler.



]_

Ao 4pr+q=029 F To] —1,2 < o, o]

ki

o1}

19.

ol

pr? + qr + 2

® 2

@ 1

® 0



1.

L
__01_

:0 S
o & 2 o

22
—bx + 36



T

__01_
B

2 &

mﬂt
A

7,1

® 2

@®
—4, —1

—
e

<t |



22. HEA2<22-2 <55 WEAPE F A
22 +arx+b=09 24 o, a2 - 029 FS T+

@ 61 @ 51 ® 11 @ —11 ® -61



)

® 6

@ 5

® 4

@ 3

@ 2



24.

AARAG U = {2 | 7o — 5 < 4z + 16°] = A5} A o,

BEAT A= {r|2?—5x+6=0} ° ths}e] A¢ & dayydoe=r
LFERH?

® A°={1, 5, 6, T} @ A°={1,4, 5,6, 7}

® A =1{1, 4, 5, 7} @ A ={1,2, 5,6, T}

® A°={1, 3, 5, 6, 7}



25. A={1,2,a*~6a+11}, B={a~2,a~1, a, a+1, a+2}°l
Watel AN B = {2, 3} W, o] @S ot



